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Set Id : 76230 6 03 Mar 2022 Batch2 TGT Science CBZ

Section 1 - Paper | General Knowledge and Current Affairs

No. of Questions: 15

1) Financial assistance of Rs.25,000/- per farm family over five seasons will be provided to small and
marginal farmers to purchase inputs like seeds, fertilizers, pesticides and use assistance towards labour
and other investments under which of the following schemes currently being implemented by the

government of Odisha?

A) KRUSHI Sanghatan Pariyojna

B) KALIA Scheme

C) KRUSHI Mitra Scheme

D) Krushi Niyojan Yevam Upjivika Yojna

1) G9 96° QIFKIG QARAIRG Q2R, AIQ, FITAIIR IQ AR @EIQ1 99° FF1 98° JQURY F6Qd TFI6Q ARIAG! UL
041 IR AIBE Ag6a g6eyR 9 adeia dgl 25,000 & AR ALAAS! 9L FAUTR | FIRYS SAFAIFER FUQ 69Q

6LIRAI 2RIFEA QRCIR 6P AN FIAI N2 AL FAANRE?

A) @8 @°0e 9R6IeeI

B) @i@al saiaq!

C) @& dg saIea!

D) @8 G6iIeq ¥e° QORISR 6AIRR!

2) On the occasion of 75th Independence Day, Prime Minister Narendra Modi announced which of the
following missions with an aim to make India a global hub for the production and export of green energy?

A) Green Energy Mission

B) National Hydrogen Mission
C) Renewable Energy Mission
D) National Carbon Mission

2) 75 691 UGG TQ 2GAR6ER PUKEF G609 67191, AR 93 QLR 62l I AR VIeeYy Y1 2] ARG
Q6RIEQ FIAYS T FUQ 6@A0Q 62ITEI FRejEM?

A) Qg 98 FaQ

B) @Io1a Q196g168R d8q
C) aQ1004 626l 6@ fae
D) qio1a QI9e f6]
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3) Which of the following Ministry has introduced a Pre-Matric Scholarship scheme to the SC Students
studying in classes IX & X?

A) Ministry of Rural Development and Sanitation

B) Ministry of Labour & Employment

C) Ministry of Social Justice and Empowerment

D) Ministry of Statistics and Programme Implementation

3) FIRYS FRGINA FOR FRIQ 6RAE ARE1 Ie° @Fl 684160 AgaRl 1Ad BIGAIRG IR J-AHITR WRGAY AR
Jeee @08?

A) QI8 FRIG 99° AR ARNRL

B) g¢1 9e° 898 aadieg

C) QI1FD Q41K 9S° AIBRAE A1REIRS

D) a@Q°siiie ¥96° QIGIgT SINIQER FREIRD

4) The energy obtained from food is measured in which of the following units?

A) Grams
B) Newton
C) Calories
D) Erg

4) dIQyQ FigeQl S8Q F6I9 AUQ 699 GAT 60 I RAIAI?

A) giqy

B) queq
C) @usmia
D) @zied

5) After which of the following Wars/ Battles Shah Alam Il gave the Diwani rights to the East India Company
which eventually led to conquest of Odisha by British?

A) Second Anglo-Mysore War
B) First Anglo-Mysore War

C) Battle of Buxar

D) Battle of Porto Novo
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5) ARG I 69Q YB/ AGIN AR JIl AINT Fo1B, A T2 LAY TR YR 6PN AL ITER
FoaIne 9IQl 659 SRAQ FIQE 6RMI?

A) 8010 2I6EI-AL1gQ YR
B) qa aisap-agiga g
C) ega ge

D) 6q1661 651691 &

6) In 1804, the first agitation against the British in Odisha was witnessed in Khurda / Khorda region during
the tenure of which of the following rulers?

A) Kalapahad

B) Mukunda Harichandana
C) Raja Ramachandra Deva
D) Mukunda Deva Il

6) 1804 AJLI60 BFHI6Q GEIRE G6QI6Q F2IFl A6RFRI FIRYE 69Q JIAeE QITIFIR (160 6HIT 2ERER
6Q%QIq AeImI?

A) aeIQIele

B) @@ edoee

C) QeI QU9 64

D) qge 2@ gola

7) Most of the Indian sub-continental landmass forms a peninsula, what is the meaning of peninsula?

A) Land of mountains and valleys

B) Area covered by tropical forest

C) Surrounded by water on three sides

D) Landmass formed due to volcanic eruption

7) 229 ARG QA-121695A oIS 1L QAFIA 9] @61, IE QAR 2 @'§?

A) 996 18° QUGIRNIQ AIRHE
B) 919 9% fora gIal 219G A8
C) 3@ aigeq I8 FIol 690 988

D) 26809 @108 629 998 Q& 6208

'
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8) Which of the following options is CORRECT with reference to the type of 'Liberty' declared in the
Preamble of Constitution of India?

A) Social, economic and political liberty

B) Economic, legal and financial liberty

C) Liberty of thought, expression, belief, faith and worship
D) Liberty of religion, caste, reliability, trust and wisdom

8) AIQee IS JIILRI6a 6QIT6 'ASE'a gRIa 4096 AYRYS AUQ 609 98 A0R 266?

A) IR, 2EI6FER 18° QIFEHER ARGS!

B) 2161656@, 2IRRee 96° 2Ifie NAS!

C) Saraiql, A8Q4@, 9@ dIRdl, F4IA NS I QIR U1
D) dd, RI5, QARG QAL I KIS Q S

9) Under the Directive Principles, the State shall endeavour for early childhood care and education for all
children until they complete the age of

A) 10 years
B) 8 years
C) 6 years
D) 12 years

9) Feaaqicll A1 AGAIN, QIRY 668 QAd AAIY 262l ays Arg JRiea dAIGea 99 ¥6° 49l AR JAId RAQ?

A) 10 og
B) 8 od
C)6 a9
D) 12 @9

10) In Feb 2022, Union Power Minister launched a hackathon named Powerthon-2022 to find tech-driven
solutions for quality power supply. Who among the following ministers is being referred to?

A) R K Singh
B) Piyush Goyal
C) Amit Shah
D) Rajnath Singh
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10) 6aQ2lIQ 2022 6Q 629 9@ A1 GEIAR SIQ 6AITIE AN 6T6FIENIF IRG ATRIA 63IFAI AR AIFGRIR -2022
QIR @ QIRIAQ 2R KRYSR FIRNYEF AUQ AT AQ1 &7

A) 2Ie 6@ Q°
B) a19a sqiam
C) 2die qigl

D) queqial @

11) The FIFA World Cup 2022 is scheduled to be held in which of the following countries?

A) Russia
B) Qatar
C) Brazil
D) Japan

11) &en G999 2022 GIRYS FRIQ 699 6996Q AGAG 6291 AILIGH AF?

A) ga

B) qioia
C) qigm
D) siaie

12) What is GPI with respect to education and social development in India?

A) Gross Primary Index

B) Gender Parity Index

C) Geographical Parity Index
D) Gross Preference Index

12) RUQLEQ JFI 9e° AFITR T8 A6 6Q GP| @41?

A) 99 JIREFIRT AR6LF

B) 609q Qi06 anceq

C) 601gITRN QT 0960]
D) 94 gaeaq aa6eq



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

13) Which of the following options is the popular application of Polytetrafluoroethylene, commercially
known as TEFLON?

A) Used in making pencils
B) Used as a dye to colour metal furniture
C) Used as coating on non-stick cookware

D) Used as an adhesive in gums

13) FORge GREgFe FUQ 69AF ANETTICTICANARNRE 6AIFTD JEUT,AITT QISATR FIF6Q 6TYR AR
FANGSN?

A) 603m G2IRER LS 99

B) dIg 21IRQ1908g A 6041 QIR QFf AIFER 1S §9
C) a9 -8] Qa1 RAFAEIQ ZIRAE NEA F4LE §9

D) c1@6a 9@ 801 QN6 Q49LS 9

14) Who among the following was the leader of the Revolt of 1857 from Bihar region?

A) Surendra Sahai

B) Begum Hazrat Mahal
C) Nana Sahib

D) Kunwar Singh

14) QIR AERQ 1857 Q F6QILQ 6991 @4 g6m?

A) g6ag Q914

B) 6qqiq] eaae agm
C) qIql Qleee

D) geaa @

15) Project Tiger was launched in India in 1973 with the help of which of the following organization?

A) UNESCO

B) World Wide Fund for Nature

C) World Bank

D) World Oraanization for Animal Health
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15) QRS 68 L°F0RQ AIFIKIEA 1973 69 VIAGER 69I69q, S1R9IR 2R KQULIREMmI?

A) geaeal
B) 996 a9l €I, 4eg AIf
C)eq que
D) ag 919y QIR ¥ 2°608
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Section 2 - Paper | Reasoning Ability

No. of Questions: 10

16) The cost price of each fan is ¥ 400. The shopkeeper wants to make a profit of ¥ 140 after giving a
discount of 10% on the marked price. What should be the marked price of each fan?

A) T 520
B) 560
C) Z 600
D) Z 660

16) go& IR @MY 6208 T 400| R66 6QIQIRT FRTQ T96 (MY QUK 10% QLT 6291 U6 &G @A T 140 QIR
QA1 QIRIBI gGT TR @ OFC (Y 6960 6961 ATQ?

A) Z 520
B) % 560
C) 2 600
D) 660

17) It takes 48 children to complete three fourths of a painting during the art class. If the painting had to be
fully finished during the art class, how many children should have worked on it?

A) 72
B) 96
C) 36
D) 64

17) 9% 48 946 ORI 6615 SeRR 65416R U@ 60aGa 57 0gaird 208 Asd @aE| 6061 IF 608°q FaaR! 65416
Qg4 391 A6 6266 K4 TR YEQ VT FTC ASQ?

A) 72
B) 96
C) 36
D) 64
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18) A four member group consists of A, B, C & D. A's wife is C's sister. B's daughter's father is A. A's
daughter is D. How is C related to D?

A) Aunt or Uncle
B) Mother

C) Sister

D) Father

18) 4R QIAR4 AeQy 338 6391 A, B, C 9e° DG 650 9061 A'ea 1 62088 Caa @edll B 82aa QI 62288
Al A=Q @2 62288 D| 6262 C @0Q 91960 De 8¢ Aaa?

A) q1eQl QI qig]
B) aua

C) eed!

D) cial

19) Select one of the following four options that will make the 2nd pair analogous to the 1st pair given
3:81:5:72

A) 136
B) 425
C) 625
D) 3125

19) GINGE GI6QIT TaF AUQ 6AITN 9OR Qag JIAIE GRARYS 19 61! AYE 24 QI IO KO
381 257

A) 136
B) 425
C) 625
D) 3125

'
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20) Select one of the following four options that will make the 2nd pair analogous to the 1st pair given

Flower : Flower Pot :: Player : ?

A) Captain
B) Ground
C) Coach
D) Game

20) QANGE Q16T TR AUQ 63T AR QA QTR FAUIRNLYR 161 6AIQ! AQH 292 6QIF IS *AQ
IR IN Qe 1 63N : ?

A) QU60R
B) agai

C) gdae
D) esi@

21) A salesman is appointed on a monthly salary of ¥ 5,000 with a commission at 3% on the sales over
% 40,000 during a month. If the salesman earns % 5,900 in a month, what is the total sales in that month?
A) T 30,000

B) ¥ 70,000

C) % 75,000

D) % 80,000

21) @64 Q6qol FIdR 6999 T 5,000 A8G 60IG C1L6R T 40,000 @ AP 97 QA6Q 3% @FH] A6 G
AIRERI AT YT 6ARACNIR 62 631G AIAER T 5,900 2AFE FOT 6669 69T FIAQ 6AIS TG 6R6G QER?

A) Z 30,000
B) 70,000
C)Z 75,000
D)2 80,000

22) What is the single discount which is equivalent to the two successive discounts of 10% and 20%?

A) 15%
B) 25%
C) 28%

my 20/
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22) 996 §AIG@ GG 10% 9G° 20% A2G 664 I6R AT AFIR 6RN?

A) 15%
B) 25%
C) 28%
D) 30%

23) A treadmill's speed slows down proportionately as the time increases. If, after 18 minutes the speed is
16 km per hour, at what time is the speed 12 km per hour?

A) 16 minutes
B) 13% minutes
C) 24 minutes
D) 22 minutes

23) 4R 690 TN 696 A7 9F ARSI A2 AAIFAIGR NVER 2R CRARAIRAN| &, 18 A7 U6 696 A&l 9F 16
FEAFCR 0T 6669 6RQ AR 689 A4l g6 12 Fenifica 6297

A) 16 §Gg
B) 131 dag
C) 24 &g
D) 22 &g

24) P's sonis R, R is married to T, T's daughter is U. How is R related to U?

A) Father
B) Uncle
C) Mother
D) Aunt

24) P'eq g2 62983 R, R 99Ie @088 Tq, Tee 82 62082 U| 6069 R @0 196 Us Q86 a@e?

A) Qial
B) aial
C) anai
D) ¢i@

'
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25) Select one of the following four options that will make the 2nd pair analogous to the 1st pair given
River : Dam :: Traffic : ?

A) Vehicle

B) Light Signals
C) Speed

D) Path

25) FORge QI6QIS SaF (1Q 69T 998 @ag JIYR QAR 191 6QIQ A 26 6919 JGe 9L

0Q1: QR QTR ?

A) aie
B) g doqing
C) 6al
D) quai

< » f
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Section 3 - Paper | Computer Literacy

No. of Questions: 10

26) What is the shortcut key to close the open active word document?

A) Shift+F3
B) Shift+F2
C) Alt+F4
D) Alt+F3

26) IR 691N AGG QI 0FYETL] G FEGI AR ATRY KEY @47

A) Shift+F3
B) Shift+F2
C) Alt+F4
D) Alt+F3

27) Which of the following is a volatile storage?

A) RAM

B) Hard disk

C) Magnetic Tape
D) Floppy disk

27) FIRYE FRIQ 6QAE U@ CRAINTIAR CRCAR?

A) RAM

B) @1¢ G

C) cleaeR 699
D) gd @<

28) Which of the following is an extremely fast computer which can execute hundreds of millions of
instructions per second?

A) Workstation

B) Mini Computer

C) Main Frame

D) Supercomputer

Join Us- « > f
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28) GORYS FIQ 6RRE IR 2GS G ISR AR IF 6A6RL6A 98 92 FYS F6LHIART ALIRIQT FRAGL?

A) QIR6aa]
B) 4 agquca
C) sa1q 641
D) gqaa @siea

29) Give examples of storage devices.

A) Floppy disks, hard disks, CD-ROM drives
B) Floppy disks, keyboards, earphones

C) Floppy disks, keyboards, CD-ROM drives
D) Floppy disks, hard disks, keyboard

29) 6860 GURNAQ AL G2

A) gd 8, a6 6, 96-6a19 YIeN
B) gd @, 916916, R0Q6TI]

C) gd @, *16Q1e, AG-6I7 QIR
D) gd =, @@ &, J6q1e

30) Which of the following social networking website developed by Google is obsolete now?

A) Vine

B) Orkut

C) Friendster
D) WeChat

30) Google 9IoI GRdE AYNYS FUQ 689 AIFIFR 6RCUEIR° 63GAIRG QIR AYSRG?

A) Vine

B) Orkut

C) Friendster
D) WeChat
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31) The green wave underline in MS Word document indicates

A) Spelling Errors
B) Grammatical Errors

C) Errors because of extra spaces between words
D) Formatting Error

31) MS-Word @Qi6c196a 495 Cot 24aniag @6 q@@ @eQ?

A) eqIe g8
B) queagiae g6

C) &0 c1Iea 260 A9 62¢ g6
D) adiee g

32) RAM and ROM are which type of Memory?

A) Primay Memory
B) Secondary Memory
C) Permanent Memory
D) Volatile Memory

32) RAM 4o° ROM 69Q 99199 6716718 2I9G?

A) QIR6aa1 6616611
B) s6a6@6aal 601671Q1
C) aflieqd si6qla
D) sxinician 6a6a1Q1

33) What is an OS?

A) Operating system
B) Opera system

C) Operation System
D) Operational system
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33) 9@ OS @4?

A) Operating system
B) Opera system

C) Operation System
D) Operational system

34) Which of the following is the land records web portal of Odisha, where you can check Land details
by entering the details like name of District, Tahasil and Village of the land schedule ?

A) Bhulekh

B) Bhoomi

C) e-LandRecords
D) Umang

34) AORYS FRIQ 6AT BFHIR A 69RE 69] 6AIFIR, 6IN0IER 2T FRI, F2TR I9° FiF FIFQ ATCAT 924 Y4
AQ @0 TG AIE *QAIRER!

A) Bhulekh

B) Bhoomi

C) e-LandRecords
D) Umang

35) Which of the following is used to send a message via email to a large number of addresses at
once?

A) SPAM maill
B) Bulk email
C) Adware

D) Group email

35) BIAYS FIQ 69T IRIARER 9 AR OREIG REAR AIIFER 9K A60E 678 FEQIg NRYE 997

A) Qe 69

B) a@ @sam
C) 21e6eaiq
D) 6q191 R6aR
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Section 4 - Paper | Pedagogy and Evaluation

No. of Questions: 15

36) Peer-to-peer learning encourages

A) individuality
B) collaboration
C) competition
D) jealousy

36) 929I01-9-A2I01 FFdl QLG QATS FEQ?

A) QUBCI00!
B) agsaiq
C) gesaidal
D) @il

37) When learning is concerned with perception, it is known as

A) verbal learning

B) sensory learning

C) concept learning

D) discrimination learning

37) 60606R6R 994 QGAUFRE RIQ AL 960, Y2 FINYS AU FEIFS

A) 41 dQ6l
B) a*sqq1 da4
C) goya da¢l
D) weaie 494

38) Contsructing a table of topics, level of the question and marks allotted in test construction is

A) Test conceptualisation
B) Schematic test

C) Blue-print

D) Master Plan
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38) JQIFE Q99 JAINIER AINEs VAL IR 659, JY9 2R 9° AR A8 KAl 62Q8

A) 99194 °gNIGReE
B) saigqigaisa a1aél
C) a@eaa q1(-g)

D) st 6Q1941 (F19Q AI])

39) The objective of assessment in schools is

A) Assessment of learners
B) Assessment of learning.
C) Assessment for learning.
D) Assessment for Scores.

39) MIRAGERER FNAEIA RERYY 6208-

A) SRIE1910EQ ARIQE
B) dsgia GIQ¢

C) a4 aIa a9

D) 6aiq QIR FRIQE

40) Which of the following is a solution designed to help teachers in meeting with new challenges and
developing learners’ abilities and performance?

A) A smart class

B) A teacher-centred class
C) A small class

D) A research class

40) SRRAIGE §9F YRR JAITR 19° FAIFINER GVG! N6° ATV FAIF6Q ALY KRR, FIRYS IR 699
QRIS AQRTC 621RE?

A) 9@ 9I¢ QI

B) @ dae-625% 6g&1
C) 9@ 6316 65411

D) u@ agasie 6§41
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41) An assesment used to exhibit a collection of learner work highlighting their achievement in a specific

A) Performance Assessment
B) Portfolio Assessment

C) Informal Assessment

D) Formal Assessment

41) 9@ 544 69969 ARIITQ ATRVIG AICAFS FQEYSI 6AFINTA AR A°F2q J28e ARG AN ML IR FFIQE)

6208-

A) QIGIQVG! FRIQSI
B) 6aIg6rAiG aRIa8
C) 26alaciam A1
D) Aagiae eI

42) Constructivism is a theory that equates learning with creating meaning from

A) assumption
B) experience
C) instruction

D) inheritance

42) @oRIRIe1 AR 620IQ d849 22 98 @8l A8 AAIR QGIN?

A) IR AQEI
B) 2@ga!

C) Geas

D) eear@ia

43) Which of the following is TRUE about teaching?

A) All teachers have the same style of teaching

B) Every teacher has similar ability for teaching

C) All Teachers think of same examples in the classroom
D) Every teacher teaches according to her personality
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43) AYRYE IQ 69RF FVAIR FTACR AGY 26672

A) Q01g J9eE AR 63R1 AAIR 26T

B) g6eye dReeq J9IQIR IR AAIS /S 2

C) Qng 99 65419260 AR AFAE SIACR AT
D) gecie dae Gaa Q1aQ gl 83IQIe 93

44) Which of the following is an advantage with lecture method?

A) Full control over the transaction of the lesson
B) It as a one-way communication
C) Learners are passive listeners

D) Learners have limited opportunity to offer feedback

44) @901 983 IR FIAYE AUR 69T AIVFAR 26S?

A) QI01Q FIRLIR AA6R AFE FARE
B) 12l 9@ ool 6QISIEAIC RAFER
C) daiciicien F§a 69161

D) aeie16 geie @6Qlq JaIdifeaa QIfe geaIs

45) Which of the following statements is TRUE of constructivist approach to assessment?

A) The process of learning shuts down
B) Assessment is ongoing process.

C) Students solve only straight problems
D) Students stick to the initial information

45) GORLC QBYFP FUQ 6R9E FTQE IR F0R (R@ QICIT FTACR AN 266"

A) JYQIQ e 9 62IRAII

B) 48104 9@ godsia gl 26a!

C) 219€168 6@e7 Jal ATAIQ AARIS K|
D) gigaisq giade gorl A8 966 QL8|
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46) Which of the following statements is TRUE?

i) In Assesment as learning the learners have their own Goals

ii) The learner himself/ herself initiates the assesment process

A) Only i is true
B) Only iiis true
C) Both i & ii are true
D) Both i & ii are false

46) RS AUQ 699 QBT ARN?
) GG AFCA FNAGER VTR FFF A 2|

i) dfEi Aew RN Yo 2R AEA

A) 6298 | A 2169

B) 6qaq i 9oy 26

C) Qo | 99° il 994 6%
D) @@ i e i day 2ee

47) The Readiness for a child's learning is determinded by

A) Motivation
B) Readiness
C) Fatigue

D) Maturation

47) 840 JA16 AR 9IS FIRYS F101 Fda KU

A) 2@egad
B) agé

C) aqiad
D) a@a<el
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48) Which of the following statements regarding Intrinsic motivation is TRUE?

A) It does not require any prior learning

B) Reinforcer drives an individual's behaviour towards a goal
C) Rewards are used to achieve goals

D) lts is more important than extrinsic motivation

48) 2198 2REYNE ACYREA FYAYE AUIQ 69Q AT AGY?

A) 92l 6163 S FFE ARER R6Q AT

B) gaeee 1@ Q439 2I0adq 1a adY 2Ieq 688l
C) a4 29m *0Ql AR JRAUR ML 29

D) Qigy a@6gae 2601 92 2@ gegd

49) An assessment that takes place after the learning has been completed and provides information and
feedback that sums up the teaching and learning process is a

A) Diagnostic assessment
B) Formative Assessment
C) Summative assessment
D) Prognostic assessment

49) 896 AIY 6291 U6R AFYRI IR BFIQG, YORI I° AGIFS gRIR K61 AL VR Ie° JAG gFAg 1R @6Q,
QI2IQ V6 QLI

A) 650150 QIIQE

B) c0@ ¢Jae faIee

C) an1g Qoo Fa1d

D) geges aelag

50) Attention span of which of the following group of students is less?

A) middle school studnets

B) pre-school students

C) secodnary students

D) higher secondary students
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50) ARG SIGAIRE IR RITIQ UIFR AT A K€|?

A) C1-IQ FIFAR BIFINER
B) 91! 80492 219919G
C) arfie g1grieea

D) ae aludie sigaieae
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Section 5 - Paper || Chemistry

No. of Questions: 30

51) Which of the following terms can be defined as the sum of the atomic masses of all the atoms in a
molecule of the substance?

A) Atomic mass

B) Gram atomic mass
C) Molecular mass

D) Gram molecular mass

52) How many atoms are there in one mole of iron?

A) 6.22 x 10%'
B) 6.32 x 10?2
C)6.022 x 10%
D) 6.202 x 10%8

53) Which of the following chemical compounds has covalent bond?

A) NaOH
B) KCI
C) Hz

D) NaBr

54) Which of the following statements is CORRECT regarding CO2?

A) It has two single bonds
B) It has two double bonds
C) It has three double bonds
D) It has three single bonds

55) Which of the following equilibria has constant vapour pressure at a given temperature?

A) Solid-liquid equilibrium
B) Solid-solution equilibrium
C) Liquid-gas equilibrium

D) Gas-solution equilibrium
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56) What is the reaction quotient (Qc) for a general reaction, aA + bB < cC + dD?

A) Qc=[B° [CI°/ [A]* [DF
B) Q. = [AF [D]/ [B] [C]®
C) Q. =[AF [BP/ [CJ°[DJ
D) Q. = [CF[D]*/ [AF [BP

57) What is the oxidation number of Mn in KMnO4?

A) 2
B) 4
C)6
D) 7

58) Who showed that the chemical and physical properties of elements are determined by the atomic
number and not by the atomic mass and paved the way to the modern periodic table?

A) Dmitri Ivanovich Mendeleev
B) Henry Moseley
C) Johann Dobereiner

D) John Alexander Newlands

59) Iron ore is the basic mineral used in modern industries. Which of the folllowing options is the principal
ore of iron?

A) Magnetite
B) Bauxite
C) Cuprite
D) Zincite

60) Chloroform is a colourless organic compound which has many industrial uses. The chemical formula of
Chloroform is:

A) CCly

B) CHCl,
C) CH:Cl;
D) CHaClI
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61) The chemical formula of dry ice is:

A) CO
B) OC
C) CO:
D) C:0

62) Which of the following options is CORRECT with reference to the shape of p and s atomic orbitals
respectively?

A) spherical, dumbbell
B) dumbbell, spherical
C) spherical, spherical
D) dumbbell, dumbbell

63) Which of the following statements is CORRECT with reference to properties of liquids?

A) They have definite volume and definite shape

B) They have definite volume and no definite shape

C) They do not have definite volume and definite shape

D) They do not have definite volume and have irregular shape

64) Which of the following is the name given to a series of spectral emission lines of the hydrogen atom that
result from electron transitions from higher levels down to the energy level with principal quantum number
27

A) Lyman series
B) Balmer series
C) Paschen series
D) Brackett series

65) What should be the ratio of energies of electron in various Bohr orbits of Hydrogen atom?
A) 1:2:4:8

B) 1:4:9:16

C) 1:1/2:1/4:1/8

D) 1:1/4:1/9:1/16
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66) How many moles of methane occupy the volume of 11.2 Litres at Standard Temperature and Pressure?

A) 0.5 moles
B) 1.0 moles
C) 1.5 moles
D) 2.0 moles

67) ldentify the type of hybridization seen in a methane molecule.

A) sp
B) sp?
C) sp?
D) spid

68) Calculate the pH of 0.01N HCI.

A) 3
B) 4
C)2
D) 1

69) Which of the following behaves as both oxidising agent and reducing agent?

A) H2S
B) NHs
C) SO,
D) KQCI'QO?

70) Which of the following is a reducing agent?

A) H2S
B) H20;
C) KMnO.
D) KsCr,07

71) The element with atomic number 34 belongs to which of the following blocks of the periodic table?

A) s block
B) p block
C) d block
D) f block
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72) Which of the following quantum numbers represents the main energy level in which the electron is
present?

A) Principal quantum number

B) Azimuthal quantum number
C) Magnetic quantum number

D) Spin guantum number

73) Which of the following reactions represent van Arkel method of refining metals?

A) Cu — Cuz+ + 2¢e; Cupt 2e- — Cu
B)C+1/20,;— CO; CO+1/20; — CO;

C) Zr + 2l — Zrls; Zrls — Zr + 21,

D) Ni+ 4CO — Ni(CO)s; Ni(CO)s — Ni +4CO

74) Which of the following processes is used for refining of Nickel?

A) Mond process

B) van Arkel method

C) Froth floatation process
D) Hall-Heroult process

75) Grignard reagents are commonly used for organic synthesis. Which among the following is a Grignard
reagent?

A) RMgX
B) RLiX

C) RZnX
D) RNaX

76) Which among the following metals is used in an organic coupling reaction named Wurtz reaction?

A) Al
B) Fe
C) Na
D) Zn
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77) How many molecules of ethyne are involved in cyclic polymerisation reaction to form benzene?

A) 1
B) 2
C)3
D) 4

78) To what volume, 8 m® of ethane gas at 1.2 atmospheric pressure has to be compressed to give required
storage pressure of 6 atmospheres at constant temperature?

A) 0.9 m3
B) 1.6 m®
C)1.8m?
D) 2.0 m?3

79) A gas occupies a volume of 48 cm?® at 15°C. Calculate the volume that the gas would occupy at 33°C at
constant pressure.

A) 42 cm?
B) 45 cm?®
C) 51 cm?®
D) 54 cm?®

80) Which of the following options describe the orbital with quantum number n=3, [=27?

A) 3s
B) 3p
C)3d
D) 4f
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Section 6 - Paper Il Botany

No. of Questions: 35

81) Which growth regulator is responsible for fruit ripening?

A) I1AA

B) GA

C) ABA

D) Ethylene

82) Which growth regulators was isolated by F.W. Went from tips of coleoptiles of oat seedlings?

A) Gibberellin
B) Cytokinin
C) Auxin

D) Ethylene

83) In which phenomenon the growing apical bud is partly responsible for inhibiting the growth of axillary
buds?

A) Plasticity

B) Apical dominance
C) Parthenocarpy

D) Phototropism

84) Which Plant Growth Regulator is responsible for cell division?

A) Cytokinins
B) ABA

C) Ethylene
D) GA

85) Who among the following independently rediscovered Mendel's work?

A) Hugo De Vries, Robert Hook and Frederick Griffith
B) Carl Corrence, Carl Nageli and Francis Crick

C) Erich von Tschermak, Charles Darwin and James Watson

D) Hugo DeVries, Carl Correns and Erich von Tschermak
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86) The observable characteristics or traits of an organism is

A) phenotype
B) genotype
C) test cross
D) back cross

87) Who is the father of genetics?

A) Robert Hook

B) Hugo De Vries
C) Carl Corrence
D) Gregor Mendel

88) Gregor Mendel (1822-1844) perform his breeding experiments on which plant?

A) Tomato
B) Potato
C) Pea

D) Papaya

89) The cross of an organism showing dominant phenotype with the recessive parent to predict the
genotype of the test organism is

A) Back Cross

B) Test Cross

C) Monohybrid Cross
D) Dihybrid Cross

90) Kranz anatomy is a special feature in which type of plant species?

A) C2
B) C3
C) C4
D) CAM
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91) Which of the following is an example of C3 plants?

A) Spinach
B) Maize

C) Sugarcane
D) Orchids

92) In photosynthesis process light reaction is also known as

A) Hill's Reaction

B) Blackman's reaction
C) Oparin reaction

D) Emerson effect

93) Which cell organelles participates in photorespiration?

A) Chloroplast, Lysosome and Vacuole

B) Chloroplast, Ribosome and Golgi apparatus

C) Chloroplast, Mitochondria and Peroxisome

D) Peroxisome, Endoplasmic reticulum and Lysosome

94) With respect to photosynthesis, what is the full form of acronym CAM?

A) Crassulacean Acid Metabolism
B) Carbon Acid Mechanism
C) Crassulacean Acid Mechanism
D) Carbon Acid Metabolism

95) Reaction of Calvin Cycle occur in which part of chlorplast?

A) Stroma
B) Inner membrane

C) Outer membrane
D) Cytoplasm

96) Which crop was affected during Irish famine?

A) Potato
B) Tomato
C) Citrus
D) Legume
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97) Late blight disease of potato is caused by

A) bacteria
B) protozoa
C) fungi
D) virus

98) ICN is the set of rules and recommendations dealing with the formal botanical names and a few other
group of organisms. What is the full form of Acronym ICN?

A) International Class of Nomenclature

B) International Code of Nomenclature for algae, fungi, and plants
C) International Category of Biological Nomenclature

D) International Committee of Nomenclature

99) Chipko movement for the protection of local forest was initiated in which state?

A) Punjab

B) Haryana

C) Rajasthan
D) Uttarakhand

100) In which plant group seeds develop inside chambers called ovaries, which originate within flowers and
mature into fruits?

A) Angiosperm
B) Bryophytes
C) Pteridophytes
D) Gymnosperm

101) In which plant group have naked seed?

A) Angiospem
B) Bryophytes
C) Pteridophytes
D) Gymnosperm
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102) Which of the following Book record the endangered and rare plant species?

A) Red Data Book
B) Green Data Book
C) Yellow Data Book
D) Rare Data Book

103) In angiosperm which structure are specialized for sexual reproduction?

A) Root
B) Stem
C) Leaf
D) Flower

104) Which of the following are reproductive parts of plants?

A) Flower
B) Stem
C) Root
D) Leaves

105) A small pore at one end of ovule through which the pollen tube enters is

A) micropyle
B) integuments
C) nucellus

D) embryo sac

106) What is the characteristic feature of Conidia?

A) Thalloid

B) Flagellated
C) Non-motile
D) Motile

107) What term used for the triploid nucleus, formed as a result of double fertilization or triple fusion?

A) Embryosac
B) Endosperm
C) Ovule

D) Pollination
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108) In Oogamy type of copulation, what is the characteristic feature of female gamete compared with
male gamete?

A) Larger and motile

B) Smaller and motile

C) Larger and non-motile
D) Smaller and non-motile

109) Micropropagation is which type of propagation technology for producing a large number of genetically
superior and pathogen free plants in a limited time and space?

A) Only vegetative

B) Only sexual

C) Both vegetative and sexual
D) Neither vegetative nor sexual

110) A peripheral protective tissue on stem known as Periderm have

A) Only phellogen

B) Only phellem

C) Only secondary cortex

D) Phellogen, Phellem and Secondary cortex

111) Which of the following theory was proposed by Carl Nageli in 18587

A) Apical cell theory

B) Histogen theory

C) Tunica corpus theory
D) Theory of evolution

112) Velamen tissue which is absorbing in nature present in which plant group?

A) Orchid

B) Algae

C) Fungi

D) Brvophvta
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113) In a leaf each stomata consist of a pore surrounded by two kidney shaped or dumb bell shaped
structure are known as

A) Guard Cell
B) Subsidiary Cell
C) Epidermal Cell
D) Mesophyll

114) According to Histogen theory Dermatogen, Periblem and Plerome are three meristematic
zones proposed by which scientist?

A) Carl Nageli
B) Carl Friedrich Schmidt
C) Gottlieb Haberlandt

D) Johannes von Hanstein

115) The term stele (An axial portion of the plant axis) was coined by which scientist?

A) van Tieghem and Douliot

B) Carl Friedrich Schmidt and Gottlieb Haberlandt
C) Carl Nageli

D) Johannes von Hanstein
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Section 7 - Paper |l Zoology

No. of Questions: 35

116) Transport of Fe3* in blood stream is carried by which of the following proteins?

A) Globulins
B) Fibrinogen
C) Albumins
D) Transferrin

117) The branch of science concerned with the study of blood and associated disorders called as

A) Hematology
B) Nematology
C) Pulmonology

D) Gynaecology

118) Which of the following connects the brain with the spinal cord?

A) Brain stem
B) Cerebrum

C) Thalamus
D) Hypothalamus

119) Which gland secretes growth hormone?

A) Pituitary gland
B) Adrenal gland
C) Thyroid gland
D) Hypothalamus

120) The cell cycle of eukaryotic cell is divided into four discrete phases. Which of the following represents
the CORRECT order of these phases?

A)G1-S-G2-M
B)G1-M-G2-S
C)G1-S-M-G2
D)G1-G2-M-S
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121) Who among the following first explained that cells divided and new cells are formed from pre-existing
cells (Omnis cellula-e cellula)?

A) Matthias Schleiden
B) Theodore Schwann
C) Rudolf Virchow

D) Garth L. Nicolson

122) The rate of production of organic matter during photosynthesis of an ecosystem is

A) Tertiary productivity

B) Secondary productivity

C) Net primary productivity
D) Gross primary productivity

123) The formula to calculate Net Primary Productivity (NPP) of an ecosystem is

A) NPP = GPP - R
B) NPP = GPP + R
C) NPP = GPP *R
D) NPP = GPP / R

124) Name the book published by Charles Darwin.

A) Systema Naturae

B) Species Plantarum

C) Mendel's Principles of Heredity
D) On the origin of species

125) Urine is formed in a three-step process: which of the following gives the CORRECT order in which
these steps take place in the nephron?

A) Tubular reabsorption, tubular secretion, glomerular filtration
B) Tubular secretion, tubular reabsorption, glomerular filtration
C) Glomerular filtration, tubular secretion, tubular reabsorption
D) Glomerular filtration, tubular reabsorption, tubular secretion
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126) A mutation causes the conversion of AG to GA or TC to CT is called

A) Transition Mutation
B) Inversion Mutation
C) Frameshift Mutation
D) Deletion

127) Which is a water soluble vitamin?

A) Vitamin C
B) Vitamin D
C) Vitamin K
D) Vitamin A

128) Fertilization of an egg by a sperm normally occurs in the

A) Cervix
B) Labium minus
C) Fallopian tube
D) Vagina

129) The organelles associated with aerobic respiration is

A) Nucleus

B) Mitochondria
C) Chloroplast
D) Centriole

130) Glycolysis takes place in

A) cytoplasm
B) chloroplast
C) mitochondria
D) nucleus
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131) Five kingdom concept of life system has been proposed by

A) James Watson
B) Robert. H. Whittaker
C) Ernst Haeckel
D) Herbert. F. Copeland

132) Which one of the following is higher toxonomic category?

A) Species
B) Order
C) Family
D) Kingdom

133) A thin, muscular wall in heart that separates the right and the left atria is called

A) inter-atrial septum

B) inter-ventricular septum
C) pericardium

D) pericardial fluid

134) In human beings the number of spinal and cranial nerves are

A) 31, 10 pairs respectively
B) 30, 10 pairs respectively
C) 31, 12 pairs respectively
D) 31, 11 pairs respectively

135) Which of the following phase starts with the nuclear division, corresponding to the separation of

daughter chromosomes and usually ends with division of cytoplasm?

A) M phase
B) G1 phase
C) S phase
D) G2 phase
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136) Spindle fibres attach to kinetochores of chromosomes in which of the following phase of mitosis?

A) Telophase
B) Prophase
C) Metaphase
D) Anaphase

137) An example of Ex-situ conservation is

A) Seed banks

B) Sacred grooves
C) National parks
D) Natural reserves

138) Which of the following is an abiotic component of an ecosystem?

A) Water
B) Plants
C) Animals
D) Bacteria

139) Which of the following is a process where new combinations of alleles are formed?

A) Genetic recombination
B) Mutation

C) Isolation

D) Natural selection

140) What is the duration of Charles Darwin’s famous voyage on HMS Beagle?

A) 1831 - 1840
B) 1830 - 1837
C) 1831 - 1836
D) 1828 - 1836

141) The part of nephron situated in the medullary region of the kidney is

A) malpighian corpuscle

B) proximal convoluted tubule
C) distal convoluted tubule

D) henle’s loop
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142) Total quantity of filtrate formed in all nephrons of both the kidneys in the given unit of time is called as

A) Tubular secretion rate

B) Glomerular filtration rate
C) Tubular filtration rate

D) Tubular reabsorption rate

143) Crossing over occurs at which stage of prophase | in meiosis?

A) Zygotene
B) Diplotene
C) Pachytene
D) Leptotene

144) karyotype 47 ,XX,+21 is for which of the following syndrome?

A) Down syndrome
B) Turner syndrome
C) Edwards syndrome
D) Patau syndrome

145) Anaemia due to lack of Haemoglobin is associated with the deficiency of

A) Zinc

B) Phosphorous
C) Iron

D) calcium

146) The common name of Vitamin B1 is

A) Niacine
B) Adenine
C) Cytosine
D) Thiamine
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147) After ovulation the Graafian follicle transforms into the

A) Corpus luteum
B) Ampulla

C) Infundibulum
D) Oocyte

148) End product of Glycolysis during aerabic respiration is

A) Acetyl-CoA

B) Triose phosphate
C) Pyruvate

D) Malate

149) How many molecules of ATP are gained during anaerobic respiration of one molecule of glucose?

A) 36
B) 2
C) 38
D) 4

150) Cyanobacteria belongs to which domain?

A) Fungi

B) Bacteria
C) Plantae
D) Animalia
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Question Paper No: |76230_6

Answer Key
1| B 31|B 61| C 91 | A 121 | C
2| B 32| A 62| B 92| A 122 | D
3 | 33A 63| B 93| C 123 | A
4(C 34| A 64| B 94| A 124 | D
3 & 35|B 65| D 95 | A 125 | D
6|D 36 | B 66 | A 9 | A 126 | A
7 |E 37 | B 67| C 97| C 127 {-A
8|C 38| C 68 | C 98 | B 128 | C
91C 39(B 69 | C 99 | D 129 | B
10| A 40 | A 70 | A 100 | A 130 | A
11 |B 41 | B 71 | B 101 { D 131 | B
12| B 42 | B 72 | A 102 | A 132 | D
13 |'C 43| D 73 | C 103 | D 133 | A
14D 44 | A 74 | A 104 | A 134 | C
15| B 45| B 75| A 105 [ A 135 A
16 | C 46 | C 76 | C 106 | C 136 | C
17D 47| D 77 \C 107 [ B 137 | A
18| A 48 | A 78 | B 108 | C 138 | A
19 [ C 49 | C 9 C 109 [ A 139 | A
20| B 50| B 80| C 110 [ D 140 | C
21| B 51| C 81 | D 11| A 141 | D
22| C SPERE. 82 | C 112 | A 142 | B
23 |96 i3 | C 83| B 113 [ A 143 | C
24 | A 54| B 84 | A 114 | D 144 | A
25| B 5§ PC 85| D 115 [ A 145 | C
26 | C 56 | D 86 | A 116 | D 146 | D
271 A 571D 87| D 117 | A 147 | A
28| D 58 (B 88 | C 118 | A 148 | C
290 A 59| A 89 | B 119 | A 149 | B
30| B 60 | B 9 | C 120 [ A 150 | B
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